Settings: Date Range: 11/10/2025 - 11/23/2025 Omit Salaried Omit No Hours Employee: All Employees Jobs: Default Job Code OC - General Manager OC - Server OC - Host OC - Cook OC - Kitchen Manager OC - Floor Manager OC - Utility OC - Dishwasher OC - Busser OC - Bartender OC - Cashier OC - Expo

Data for: 11/10/2025 05:00:00 to 11/24/2025 04:59:59 adams, marilyn Pay Rate \$2.13 Job Title Hours Total OC - Server \$20.31 Total 9.53 \$20.31 Sales: \$1,034.37 Claimed Tips \$3.80 Tips: \$137.94 Gratuity \$0.00 **Grand Total** \$162.05 Avg Payrate \$17.00 Allan, Patty Job Title Pay Rate Hours Total OC - Server \$19.96 \$2.13 9.37 Total 9.37 \$19.96 Sales: \$818.70 Claimed Tips \$0.00 \$0.00 \$126.30 Tips: \$106.34 Gratuity **Grand Total** Avg Payrate \$13.48 Bishop, Jennifer Pay Rate Hours Total \$423.79 OC - Floor Manager \$18.00 23 54 Total 23.54 \$423.79 Claimed Tips Sales: \$0.00 \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total Avg Payrate \$423.79 \$18.00 Brooks, Shelby Pay Rate Total Job Title Hours OC - Host \$10.00 21.03 \$210.26 Total 21.03 \$210.26 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 **Grand Total** \$210.26 Avg Payrate \$10.00 Buchanon, Cuyler Job Title Pay Rate \$11.00 Hours Total \$270.69 OC - Host Total 24.61 \$270.69 Claimed Tips Sales: \$0.00 \$0.00 \$0.00 Tips: \$0.00 Gratuity **Grand Total** \$270.69 Avg Payrate \$11.00 Capps, Christopher Pay Rate \$10.00 Hours 16.26 Job Title Total \$162.63 OC - Cook Total 16.26 \$162.63 Claimed Tips Sales: \$0.00 \$0.00 Tips: \$0.00 Gratuity \$0.00 \$162.63 **Grand Total** Avg Payrate \$10.00 Catalan Huerta, Francesco **Pay Rate** Hours Total \$247.47 OC - Cook \$17.00 **Total** 14.56 \$247.47 \$0.00 \$0.00 \$247.47 Sales: \$0.00 Claimed Tips Tips: \$0.00 Gratuity **Grand Total** \$17.00 Avg Payrate Chapman, Simon Pay Rate Total \$46.32 OC - Cook \$10.00 4 63 \$46.32 4.63 Total Sales: \$0.00 \$0.00 Claimed Tips Tips: \$0.00 Gratuity \$0.00 **Grand Total** \$46.32 Avg Payrate \$10.00 Conn, Julia Job Title Pay Rate Hours Total 13.52 **13.52** OC - Server \$2.13 \$28.80 Total \$28.80 Sales: \$1,232.76 **Claimed Tips** \$0.00 Tips: \$137.52 Gratuity \$0.00 **Grand Total** \$166.32 \$12.30 Avg Payrate Cox, Corrie Job Title Pay Rate \$2.13 Total Hours OC - Server Total 18.08 \$38.51 Sales: \$2,001.68 Claimed Tips \$0.00 Tips: \$328.70 \$0.00 Gratuity **Grand Total** \$367.21 **Avg Payrate** \$20.31 cox, vicki Pay Rate Total ob Title Hours \$10.00 6.39 \$63.91 OC - Bartender OC - Server \$2.13 12.98 \$27.64 Total 19.37 \$91.55 Sales: \$1,661.59 Claimed Tips \$0.00 Tips: \$289.20 \$0.00 Gratuity **Grand Total** \$380.75 Avg Payrate \$19.66 DeSoto, Jaelyn Job Title Pay Rate Hours Total

OC - Host	\$10.00	29.48	\$294.84
Sales: \$0.00	Total Claimed Tips	29.48	\$294.84 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$294.84
Cabrial Janean	Avg Payrate		\$10.00
Gabriel, Jansen ob Title	Pay Rate	Hours	Tota
OC - Cook	\$10.00	18.24	\$182.38
5 1 40.00	Total	18.24	\$182.38
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
1163. \$0.00	Grand Total		\$182.38
-	Avg Payrate		\$10.00
Gantt, Hannah	Day Bata	Harma	Tota
ob Title OC - Server	Pay Rate \$2.13	Hours 45.34	\$96.57
	Total	45.34	\$96.57
Sales: \$4,812.13	Claimed Tips		\$0.00 \$0.00
Tips: \$535.45	Gratuity Grand Total		\$632.02
	Avg Payrate		\$13.94
Gerdes, Jordyn			
lob Title	Pay Rate	Hours	Tota
OC - Host	\$10.00 Total	32.44 32.44	\$324.36 \$324.36
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00
	Grand Total Avg Payrate		\$324.36 \$10.00
Grapentin, River			Ţ10.0C
lob Title	Pay Rate	Hours	Tota
OC - Cook	\$10.00	8.20	\$82.00
Sales: \$0.00	Total Claimed Tips	8.20	\$82.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$82.00
	Avg Payrate		\$10.00
Heynen, Benjamin	Day Date	Hours	Tota
OC - Cook	Pay Rate \$10.00	4.04	\$40.39
	Total	4.04	\$40.39
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$40.39
	Avg Payrate		\$10.00
Hoglund, Jackson			
lob Title	Pay Rate	Hours	Tota
OC - Utility	\$10.00 Total	18.37 18.37	\$183.75 \$183.75
Sales: \$0.00	Claimed Tips	10.57	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$183.75 \$10.00
Jenkins, Dawn	Avg rayrate		710.00
lob Title	Pay Rate	Hours	Tota
OC - Server	\$2.13	51.29	\$109.25
OC - Bartender	\$10.00	8.79	\$87.89
OC - Server - OT	\$3.20 Total	0.08 60.16	\$0.25 \$197.39
Sales: \$6,579.97	Claimed Tips		\$92.00
Tips: \$610.53	Gratuity Grand Total		\$105.33
	Grand Total Avg Payrate		\$1,005.25 \$16.71
Jenkins, Emma	U		,,
Job Title	Pay Rate	Hours	Tota
OC - Server	\$2.13	42.75	\$91.06
OC - Bartender	\$10.00 Total	4.07 46.82	\$40.70 \$131.77
Sales: \$5,682.22	Claimed Tips	70.02	\$5.00
Tips: \$845.07	Gratuity		\$42.45
	Grand Total Avg Payrate		\$1,024.29 \$21.88
Jenkins, Jake	7.55 7 ujiuw		722.00
lob Title	Pay Rate	Hours	Tota
OC - Cook	\$15.50	36.68	\$568.55
Sales: \$0.00	Total Claimed Tips	36.68	\$568.55 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$568.55
	Avg Payrate		\$15.50
lenkins, Lily	D D-1	Herrin	T
OC - Server	Pay Rate \$2.13	Hours 7.76	Tota \$16.54
	Total	7.76	\$16.54
Sales: \$823.49	Claimed Tips		\$0.00
Tips: \$139.00	Gratuity Grand Total		\$0.00 \$155.54
	Avg Payrate		\$20.04
Jenkins II, Jimmy			
lob Title	Pay Rate	Hours	Tota
OC - Cook	\$15.50	28.61	\$443.44
	Total Claimed Tips	28.61	\$443.44 \$0.00
Sales: \$0.00	Ciaillieu libs		30.00
Sales: \$0.00 Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00 \$443.44

			445.50
Jenkins II, John	Avg Payrate		\$15.50
Job Title	Pay Rate	Hours	Total
OC - Cook	\$16.50 Total	36.44 36.44	\$601.31 \$601.31
Sales: \$0.00	Claimed Tips	30.44	\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$601.31
	Avg Payrate		\$16.50
King, Marcus			
Job Title OC - Dishwasher	Pay Rate \$14.00	Hours 64.73	Total \$906.20
OC - DISTIWASTIET	Total	64.73	\$906.20
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
11ps. 30.00	Grand Total		\$906.20
-	Avg Payrate		\$14.00
Lopera, Angel Job Title	Day Pate	Hours	Total
OC - Cook	Pay Rate \$15.00	63.74	\$956.03
Sales: \$0.00	Total Claimed Tips	63.74	\$956.03 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$956.03 \$15.00
Martinez, Eulalio	Avg Payrate		\$15.00
Job Title	Pay Rate	Hours	Total
OC - Cook	\$18.00	80.00	\$1,440.00
OC - Cook - OT	\$27.00 Total	12.51 92.51	\$337.80 \$1,777.80
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$1,777.80
	Avg Payrate		\$19.22
Mendoza, Citlalli			
Job Title OC - Bartender	Pay Rate \$10.00	Hours 4.55	Total \$45.49
OC - Server	\$2.13	9.01	\$19.20
Sales: \$1,117.26	Total Claimed Tips	13.56	\$64.68 \$5.00
Tips: \$77.92	Gratuity		\$52.79
	Grand Total Avg Payrate		\$200.39 \$14.78
Meyer, Christopher			7
Job Title	Pay Rate	Hours	Total
OC - Cook	\$10.00 Total	4.54 4.54	\$45.36 \$45.36
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$45.36
	Avg Payrate		\$10.00
Owner, Jim Job Title	Po	y Rate Ho	urs Total
OC - General Manager	ra	\$0.00 80.	
OC - General Manager - OT		\$0.00 35. Total 115 .	
Sales: \$0.00	Claime		\$0.00
Tips: \$0.00		atuity Total	\$0.00 \$0.00
	Avg Pa		\$0.00
Owner, John			
Job Title OC - General Manager	F	Pay Rate Ho \$0.00 73.	
OC - General Manager - OT		\$0.00 73.	
Salan CO OO	Claim	Total 90.	
Sales: \$0.00 Tips: \$0.00		ned Tips Gratuity	\$0.00 \$0.00
	Gra	nd Total	\$0.00
ross, sidney	Avg	Payrate	\$0.00
Job Title	Pay Rate	Hours	Total
OC - Server	\$2.13	21.01 7.22	\$44.75
			\$72.24
OC - Bartender	\$10.00 Total	28.24	\$117.00
OC - Bartender Sales: \$2,554.86	\$10.00 Total Claimed Tips		\$117.00 \$0.00
OC - Bartender	\$10.00 Total		\$0.00 \$43.20
OC - Bartender Sales: \$2,554.86 Tips: \$212.37	\$10.00 Total Claimed Tips Gratuity		\$0.00
OC - Bartender Sales: \$2,554.86 Tips: \$212.37 Ruffino, Isabella	\$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	28.24	\$0.00 \$43.20 \$372.57 \$13.20
OC - Bartender Sales: \$2,554.86 Tips: \$212.37 Ruffino, Isabella	\$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13	28.24 Hours 26.34	\$0.00 \$43.20 \$372.57
OC - Bartender Sales: \$2,554.86 Tips: \$212.37 Ruffino, Isabella Job Title OC - Server	\$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total	28.24 Hours	\$0.00 \$43.20 \$372.57 \$13.20 Total \$56.11 \$56.11
OC - Bartender Sales: \$2,554.86 Tips: \$212.37 Ruffino, Isabella Job Title	\$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13	28.24 Hours 26.34	\$0.00 \$43.20 \$372.57 \$13.20 Total \$56.11
OC - Bartender Sales: \$2,554.86 Tips: \$212.37 Ruffino, Isabella Job Title OC - Server Sales: \$2,379.77	\$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total	28.24 Hours 26.34	\$0.00 \$43.20 \$372.57 \$13.20 Total \$56.11 \$56.11 \$2.00 \$0.00 \$423.81
OC - Bartender Sales: \$2,554.86 Tips: \$212.37 Ruffino, Isabella Job Title OC - Server Sales: \$2,379.77 Tips: \$365.70	\$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips	28.24 Hours 26.34	\$0.00 \$43.20 \$372.57 \$13.20 Total \$56.11 \$56.11 \$2.00 \$0.00
OC - Bartender Sales: \$2,554.86 Tips: \$212.37 Ruffino, Isabella Job Title OC - Server Sales: \$2,379.77 Tips: \$365.70 Sheperd, Norah Job Title	\$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate	28.24 Hours 26.34 26.34 Hours	\$0.00 \$43.20 \$372.57 \$13.20 Total \$56.11 \$56.11 \$2.00 \$0.00 \$423.81 \$16.09
OC - Bartender Sales: \$2,554.86 Tips: \$212.37 Ruffino, Isabella Job Title OC - Server Sales: \$2,379.77 Tips: \$365.70 Sheperd, Norah	\$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$10.00	Hours 26.34 26.34 Hours 11.29	\$0.00 \$43.20 \$372.57 \$13.20 Total \$56.11 \$56.11 \$2.00 \$0.00 \$423.81 \$16.09
OC - Bartender Sales: \$2,554.86 Tips: \$212.37 Ruffino, Isabella Job Title OC - Server Sales: \$2,379.77 Tips: \$365.70 Sheperd, Norah Job Title OC - Host Sales: \$0.00	\$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$10.00 Total Claimed Tips	28.24 Hours 26.34 26.34 Hours	\$0.00 \$43.20 \$372.57 \$13.20 Total \$56.11 \$2.00 \$0.00 \$423.81 \$16.09
OC - Bartender Sales: \$2,554.86 Tips: \$212.37 Ruffino, Isabella Job Title OC - Server Sales: \$2,379.77 Tips: \$365.70 Sheperd, Norah Job Title OC - Host	\$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$10.00 Total Claimed Tips Gratuity Grand Total Gratuity Grand Total Gratuity Grand Total Gratuity	Hours 26.34 26.34 Hours 11.29	\$0.00 \$43.20 \$372.57 \$13.20 Total \$56.11 \$56.11 \$2.00 \$0.00 \$423.81 \$16.09 Total \$112.94 \$112.94 \$0.00 \$0.00
OC - Bartender Sales: \$2,554.86 Tips: \$212.37 Ruffino, Isabella Job Title OC - Server Sales: \$2,379.77 Tips: \$365.70 Sheperd, Norah Job Title OC - Host Sales: \$0.00	\$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$10.00 Total Claimed Tips	Hours 26.34 26.34 Hours 11.29	\$0.00 \$43.20 \$372.57 \$13.20 Total \$56.11 \$56.11 \$2.00 \$0.00 \$423.81 \$16.09 Total \$112.94 \$112.94 \$0.00

		Pay Rate			Total
		\$10.00	12.	01	\$120.08
		Total	12.	01	\$120.08
	Cla	imed Tips			\$0.00
		Gratuity			\$0.00
	Gı	and Total			\$120.08
	Av	g Payrate			\$10.00
		Pav	Rate	Hours	Total
					\$54.03
					\$54.03
n				23.37	\$0.00
•					\$0.00
					\$519.84
					\$20.49
		7.08.07			-
					Total
					\$10.01
				4.70	\$10.01
					\$0.00
					\$0.00 \$77.12
		Avg Payl	ate		\$16.41
			Hou	ırs	Total
					\$314.14
			19.	63	\$314.14
	Cla				\$0.00
					\$0.00
					\$314.14
					\$16.00
Total Hours	Regular Hours	OT Hours			
31.02	31.02	0.00			\$0.00
297.14	297.06	0.08			\$0.25
				\$423.79	\$0.00
23.54	23.54	0.00	\$423.79		
130.86	130.86	0.00	\$1,333.16	\$1,333.16	\$0.00
130.86 348.08	130.86 335.57	0.00 12.51	\$1,333.16 \$5,467.82	\$1,333.16 \$5,130.02	\$0.00 \$337.80
130.86 348.08 18.37	130.86 335.57 18.37	0.00 12.51 0.00	\$1,333.16 \$5,467.82 \$183.75	\$1,333.16 \$5,130.02 \$183.75	\$0.00 \$337.80 \$0.00
130.86 348.08 18.37 64.73	130.86 335.57 18.37 64.73	0.00 12.51 0.00 0.00	\$1,333.16 \$5,467.82 \$183.75 \$906.20	\$1,333.16 \$5,130.02	\$0.00 \$337.80 \$0.00 \$0.00
130.86 348.08 18.37	130.86 335.57 18.37	0.00 12.51 0.00	\$1,333.16 \$5,467.82 \$183.75	\$1,333.16 \$5,130.02 \$183.75 \$906.20 \$0.00	\$0.00 \$337.80 \$0.00
	31.02	Cla Gr Av Summary Total Hours Regular Hours 31.02 31.02	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Claimed Tips Pay Ray Ray Summary Total Claimed Tips Grand Total Avg Pay Pay Rate \$16.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Summary Total Hours Regular Hours 31.02 31.02 O.00	\$10.00 12.	\$10.00